UCF Mer	ı's Golf To	ournament	Results						8/31	/25	8/31		9/1
									Sage		Sage	Run	Sage
	Sco	ring		F	eet of Put	ts			52°-73°	Feet of	52°-73°	Feet of	56°-78°
Strokes	To Par	Rounds	Average	Total	Rounds	Average	Pos	Player	2-6mph	Putts	2-6mph	Putts	3-7mph
642	-6	9	71.33	479	9	53.22	1	Hans Risvaer	78	56	66	100	68
643	-5	9	71.44	622	9	69.11	2	Chase Haygood	73	74	69	91	72
216	Е	3	72.00	202	3	67.33	3	Lucas Dutartre	73	49	68	120	75
654	+6	9	72.67	572	9	63.56	4	Jakub Hejlek	73	45	67	73	73
655	+7	9	72.78	507	9	56.33	5	Clemente Silva	69	76	69	65	71
655	+7	9	72.78	455	9	50.56	5	Camden Goldknopf	75	35	69	47	77
444	+12	6	74.00	346	6	57.67	7	Palmer Haynes	71	56	76	51	73
225	+9	3	75.00	111	3	37.00	8	Jakob Stubhaug	73	37	78	31	74

25	9/15	/25	9/15	/25	9/16/	25	9/28	/25	9/29	/25	9/29	9/25	10/6	/25
Run	Coldsi	tream	Coldst	ream	Coldstr	ream	Ironw	vood	Ironw	vood	Iron	wood	West	Вау
Feet of	63°-80°	Feet of	63°-80°	Feet of	60°-77°	Feet of	70°-79°	Feet of	69°-79°	Feet of	69°-79°	Feet of	°_°	Feet of
Putts	5-10mph	Putts	5-10mph	Putts	4-8mph	Putts	5-10mph	Putts	6-15mph	Putts	6-15mph	Putts		Putts
53	76	30	74	40	71	51	72	47	70	59	67	43		
46	76	46	71	71	71	84	69	74	71	68	71	68		
33	DNP	DNP	DNP	DNP	DNP	DNP	DNP	DNP	DNP	DNP	DNP			
73	72	48	71	48	72	55	77	81	73	80	76	69		
65	78	48	78	40	74	58	71	64	75	31	70	60		
21	70	88	76	46	73	34	72	51	70	91	73	42		
79	DNP	DNP	DNP	DNP	DNP	DNP	73	56	78	39	73	65		
43	DNP	DNP	DNP	DNP	DNP	DNP	DNP	DNP	DNP	DNP	DNP			

10	6/25	10/7	7/25	10/2	7/25	10/2	7/25	10/2	8/25	2/2	2/25	2/2	/25
Wes	t Bay	West	Bay	Panther I	National	Panther I	Vational	Panther I	National	Atlanti	ic Beach	Atlantic	: Beach
°_°	Feet of	٥_٥	Feet of	0_0	Feet of	°_°	Feet of	°_°	Feet of	°_°	Feet of	0_0	Feet of
	Putts		Putts		Putts		Putts		Putts	Wind	Putts	Wind	Putts

2/3	3/25	2/14	/25	2/14	/25	2/15	/25	3/7/	/25	3/8/	25	3/9/	25
	ic Beach	Mark E	Bostic	Mark E	<i>Sostic</i>	Mark I	Bostic	Sawgra	uss CC	Sawgra	ss CC	Sawgra	ıss CC
0_0	Feet of	°_°	Feet of	0_0	Feet of	°_°	Feet of	۰_۰	Feet of	° <u>-</u> °	Feet of	°_°	Feet of
Wind	Putts	Wind	Putts	Wind	Putts	Wind	Putts	Wind	Putts	Wind	Putts	Wind	Putts

3/16	/25	3/1	6/25	3/1	7/25	3/30/	′25	3/30)/25	3/31	/25	4/11	/25	4/11/2
Brook	Valley	Brook	. Valley	Brook	Valley	Magnolia	a Grove	Magnoli	a Grove	Magnoli	a Grove	Finle	y GC	Finley
°_°	Feet of		Feet of	°_°	Feet of	0_0	Feet of	°_°	Feet of		Feet of	Temp	Feet of	Temp
Wind	Putts	Wind	Putts	Wind	Putts	Wind	Putts	Wind	Putts	Wind	Putts	Wind	Putts	Wind

25	4/12/	25	4/2	7/25	4/2	7/25	4/2	8/25	4/29	9/25	Da	ate	Da	ate	Dε
\overline{GC}	Finley	GC		e Dunes	Prarie	Dunes	Prarie	Dunes	Prarie	Dunes		urse	Coi	urse	Coi
Feet of	Temp	Feet of	Temp	Feet of	Temp	Feet of	Temp	Feet of	Temp	Feet of	Temp	Feet of	Temp	Feet of	Temp
Putts	Wind	Putts	Wind	Putts	Wind	Putts	Wind	Putts	Wind	Putts	Wind	Putts	Wind	Putts	Wind

ite	Da	ate	D	ate	D	ate	Da	ate								
ırse	Coi	urse	Coi	urse	Coi	urse	Coi	urse	Cot	urse	Con	urse	Con	urse	Coi	urse
Feet of	Temp	Feet of														
Putts	Wind	Putts		Putts	Wind		Wind				Wind		Wind	Putts	Wind	Putts

D	ate	Da	ate	Da	ate	Da	ate	Da	ate	D	ate	D	ate	Da	ate	Dε
Co	urse	Cot	urse	Cot	urse	Coi	urse	Cot	urse	Con	urse	Cor	urse	Coi	urse	Сог
Temp	Feet of	Temp														
Wind	Putts	Wind														

Γ									
ı									

ite	Da	ate														
ırse	Coi	ırse	Coi	urse	Coi	urse	Cot	ırse	Coi	urse	Cot	urse	Cot	urse	Coi	urse
Feet of	Temp	Feet of														
Putts	Wind	Putts	Wind	4	Wind	Putts	Wind	Putts	Wind		Wind	Putts	Wind	Putts	Wind	Putts
																\Box

D	ate	Da	ate	Da	ate	Da	ate	Da	ate	D	ate	D	ate	Da	ate	Dε
Co	urse	Cot	urse	Cot	urse	Coi	urse	Cot	urse	Con	urse	Cor	urse	Coi	urse	Сог
Temp	Feet of	Temp														
Wind	Putts	Wind														

ite											
irse											
Feet of	Temp	Feet of	Temp	Feet of	Tomp	Feet of					
Putts	Wind	Putts	Wind	Putts	Wind	Putts					
1 utts	Wind	1 utts	WING	Tutts	Wind	Tutts					